Name Date

— Special Pairs of Angles

Name two pairs of adjacent angles and two pairs of vertical angles in the figure.

2)

Tell whether the angles are complementary, supplementary, or neither.

3) 4)

3 /5% 110°

5) 6) \ /
4134" > 46° >

82 —&°

Y

Tell whether the angles are complementary, supplementary or vertical. Then find the value of x. Show all
algebraic work if

7 / 8) 142°
x°”32° > x°

A

9) 10)

Y




x-2r

80° X,

Tell whether the statement is always, sometimes, or never true. Explain.

13) Ifx and y are supplementary en~lec then vic arnte

14) Ifx a.ndy are Complementary QLEZIUD, LLIVIL A 1D UULUDL.

15) Angle x and angle y are complementary. Angle x is supplementary to a 128° angle. What are the
measures of angle x and angle y?

16) Find all the missing angles.




pp. 506-507 #5-13, 15-16, 21-24, 30

5. Sample answer: adjacent: Z FGH and
Z HGJ, 2 FGK and £ KGJ; vertical:
Z FGH and £JGK, £ FGK and £ JGH

6. Sample answer: adjacent: ZSML and
Z LMN, 2 SMR and 2 RMQ; vertical:
Z NMP and 2 SMR, ~ LMN and
ZRMQ

7. ZACBand Z BCD are adjacent
angles, not vertical angles.

8. adjacent; 55

9. vertical; 128
10. adjacent; 63
11. vertical; 25
12. adjacent; 15
13. adjacent; 20
15.

16.
110°
-

21. never

22. always

23. sometimes



24, always
30. B






pp. 512-513 #6-8, 12-14, 16, 24, 26, 28-30

6. neither

7. complementary
8. complementary
12. complementary; 15
13. complementary; 55
14. supplementary; 31
16. 53

24. vyes; Sample answer: ZLMQis a
straight angle. By removing £ NMP,
the remaining two angles (£ LMN
and £ PMQ) have a sum of 90°,

26. See Taking Math Deeper.

28. x= —-15
29. n=—2>
12

30. y=-9.3



pp. 518-519 #6-12, 15, 17, 27-30

6.
7.
8.
9.
10.
11.
12.

15.

17.

right isosceles
equilateral equiangular
obtuse isosceles

right scalene

acute scalene

obtuse scalene

The triangle is not an acute triangle because
acute triangles have 3 angles less than 90°. The
triangle 1s an obtuse scalene triangle because it
has one angle greater than 90° and no congruent
sides.

obtuse scalene
triangle

60"

20° 100°

3in.

27. a. green: 65; purple: 25; red: 45

b. The angles opposite the congruent sides are
congruent.

€. Anisosceles triangle has at least two angles
that are congruent.



28.

29.

30.

yes; The equation can be written as y
= kx where
1

=
no; The equation cannot be written
as y = kx.

no; The equation cannot be written
as y = kx.



pp. 322-323 #6-9, 13, 15-17, 19-20, 24, 30
6. yes
7. no
8. no

9. ves
13. V29

15. V85
16. 25

17. The squared quantities under
the radical should be added not
subtracted; 2V 34

19. ves
20. no

24. ves; V58; Because you square the
differences (x, — x,) and (y, — y,), it
does not matter if the differences are
positive or negative. The squares of
opposite numbers are equivalent.

30. B



p- 523 #1, 3, 6, 8, 11; p. 324 #13, 15, 21
1. Sample answer:
adjacent: £ PQR and ZRQS, ZPQT
and £ TQS;
vertical: Z PQR and 2 TQS, 2 PQT and
ZRQS

3. adjacent; 146

6. supplementary; 50

11. 115; obtuse scalene

13. no

15. 2V5
21. 5.8km



p. 523 #2, 4-5, 7, 9-10, 12-14; p. 324 #14, 16-17,
23-24
2. Sample answer:
adjacent: ZYUZand £ZUV, L ZUV
and ~ VUW;

vertical: £ YUX and £ VUW, £ YUV
and Z XUW

adjacent; 16
vertical; 49

complementary; 24

© N w »

5am

?Du

7 om

12. 45; right isosceles

13. 80; equilateral equiangular



14.

14.

16.

17.
23.
24,

Use vertical angles to find that

the measure of £21s 115°. Use
supplementary angles to find that
the measure of Z3is 65°. Then use
supplementary angles to find that the
measure of ~2is 115°.

yes

V82

3V2
7.1km
11.7 km



pp. 528-529 #4-12, 15-16, 18-23, 26

4. square

5. trapezoid

6. rhombus

7. kite

8. parallelogram
9. rectangle

10. 65

11. 110

12. 128

15.

16. //135° /4y
e

18. always

19. always
20. sometimes
21. never
22. never

23. sometimes



26. a. x=125;y=>55
b. Opposite angles of a parallelogram are equal.

¢. Consecutive interior angles of a parallelogram
are supplementary.



pp- 535-536 #10-17, 19, 22

10. 200 mi
11. 110 mi
12. 75in.
13. 15in.
14. 3.84m
15. 21.6vyd
16. 17.5mm

17. The 5 cm should be in
the numerator.
Icm _ 5cm
20m  xm

x=100m

19. 24cm;1lcm: 10 mm
22. a. 30cm; 31.25 cm?

b. 9600 m; 3,200,000 m?



pp. 539-541 #1-13; p. 327 #24-27

adjacent; 21
vertical; 81
complementary; 10

supplementary; 34

nios WMo

7. 41; right scalene

8. 23:isosceles obtuse

10. 147



12.
13.
24.
25.

26.
27.

6cm; 1cm:5in.

2.5cm;1lcm:3in.
yes

no

5V5
V113












Name 4/5/%/,}

Date

EVX] - Surface Area of Prisms

Find the surface area of each prism.

) I & € |3t
418

8 ft

A:z2¢x2 =¢8
B= 1252 =29

z 32x7 45/

// 75 Vm

4)

i<
I é 24 mm

\_
T

A=288x2 =57,
8= 360 ¥2 = 720
¢ =080 xyZ =360

| 765 mm*]

g




5) ]7 , 6)
11.51n,

7 8)
10cmé
//
Gcm 34 cm L g
= & -
A= 4(18439)e x2 = 3/2 F——— A (-
= (74
b= 4 Az 240 ¥2 = Y80
L* 1= B=z28¢9
p= Yo c= 360
- p= 188
g =3¢ L e
}Wﬁj{;’i] F= 57L
— —_— &= 720
Make a sketch of the rectangular prism with the given dimensions. Then find its surface area. ’;75,;:; o ?
9) length =2 in., width =2 in., height = 3 in. 10) length =35 cm, width = 6 cm, height =7 cm
C l s § Temi  A=35K0 270
" & Az 6vl =/ g+ t2r2 =97
Goa Bzh¥L=l2 bem dé B
7 c=¥¥2=¥ §om L= 30 o

) 52* ] -



Name /4/75/1/{ rS

Date

EYW] - Surface Area of Pyramids

1)  What is the slant height in a pyramid?

s A 1194/ of one of e leteal ffléryés,

Use the net to find the surface area of the regular pyramid.

R RO EQD 3 sm spz g(Lse) 6l 7
/ﬁ‘ = ‘/(é> + 16 6m- - ;(/39 doleie !

Area of base
Lin’ is 61.9m<,

_2V%/(‘ :?ﬂ#éﬂy

:@ ://9’/-%,7';

Find the surface area of the regular pyramid.

4) Nt 54 =9(t-69) + 4b) %) m Az (4ve) + Yy)
= Y(z7) + 3¢ A % =ylnz) + /
/ ‘ decm
5 ft = /0F # 3L = Y8 4/
/vy £0%] = JbYem®
0)

7)
23({-900) 4 ({-9.29)

=3(?f) + 25,/
=)35 #+ 35,/

sh=3(L-15m)+(4/5/3)

=3(75) + 975

=Z25 # 975

=)770.1 yol 2 | =/ZzZ->’f4 ‘l




8)

7
Area of base
is 440 4 mm~

Sh= 5(4 n-te) + v¥0.y

0y

(o) + oy

1"

go0 + Y¥o.y

=)7250.4 ]

10) The surface area of ¢ epyramid is 85 m2.
The base length is 5 meters. What is the slant
height?

sheq(-7 k) 65

g5= Y(t.5h) + 25
vo = ¥ (454)
/57 454

30454
/&m:k

12)  Find the surface area.

=

9)  Find the surface area of this rectangular
pyramid.

.
X S5cm

sh=2(%-9¢)+ z({.5.8) * (es)

= z(29) + 2(7e) * 7°
=Yg + YO + Y0

e

11) The surface area of a regular pentagonal
pyramid is 125 square yards. The base
length is 5 yards. The area of the base is 37.5
square yards. What is the slant height of the
pyramid?

sh=5(4-5h) + 325
Jir = 5 R4y HEET
57.5 = s(4-5h)

2.5 = 254

35 = A

[7m=h ]

spe y(dre) # 9(v7) 2

= Y (15) 4 V(20 + 75

= g0 * 89 +25



Name forsortrs Date

— Surface Area of Cylinders

1) What is the formula that will help you find the surface area of a cylinder?

Az Z7ré + Al # or S#z it b Zunk

2) If you are given the height and the circumference of the base of a cylinder. Describe how to find the
surface area of the entire cylinder.

7 4’7#: ot Ao arca of e lahm/ 5oféc:<,/ gat m‘u//‘/)ié
I 4¢7/// Grd e Cricembesbae .  Sric ore Bwmofe of +Ee Corcem vty

P C:Zﬂ'/} g can Co/Coltsfoe ’%mﬁfy_s- 74';7»7‘/‘“«;./ Mdjfl’/f'ﬂ
Cf}olﬂ-/.drg,tcf' /ﬂca /ynq ‘@H -,%, /‘aya//;/nym Cw }%, 4’/&/%

arls of e Fm ol DeoseS. &ffl%  adyf A chvles niAE A,
/d/é/tz/ S 14“ .

Make a net for the cylinder. Then find the surface area of the cylinder. Round vour answer to the nearest
tenth. SHOW ALL WORK.

3) 4) r:%]
2in. \ ’

§4= Z?frz y 7‘7'0/#
= z
$#z 200t fordd Z2.3..5% 4 3.04/0:/

2234 4% 4 BNYF-L
e /57 + 34

= W0.ys 4 D2 s ST 7
e 1

= /50.72

X 5. 7,5 7

Find the lateral surface area of the cylinder. Round your answer to the nearest tenth. SHOW ALL WORK.

1yd
3m

Sh=
54z ol 4t = EM R IER/
_ = 5¢.52
=5./9xtx3
- o
= 5¢.52 ”}m

cFeray



Find the surface area of the cylinder. Round your answer to the nearest tenth. SHOW ALL WORK.

T
”
SA = Zygr? £ gy

= 2x 3N n 92 L 2 xIEx L

1l

SOB.65 + 322/2

/897.8 £77)

_—

\

9) The truck’s tank is a stainless steel cylinder.

Find the surface area of the tank. SHOW ALL

WORK.

radius = 4 ft

SH= Zor® 4+ yodt/

2x3.%x4% ) B4 5x5D

3]

"

/P0-v8 # 1250

= iz5¢ v8 ¢+ %)

8) 10m
A
K Lam
1 \/
7

S = Doyt + A 4
= 2x3.4 x5 F 2./8x & x/0

= JPH.98 +& 2542
=)35/.68m Y/
A~ / 2 /

10) How much paper is used in the label for the
can of cat food? Round your answer to the
nearest whole number. SHOW ALL

WORK.

30mm

kCat food p R

%f“‘f“ & % Beef Dinner '

54 = g ¥
T B3 bOX2Y



pp- 338-339 #9-15, 18

9. 2527 = 791.7 in.?

1125

10. m =~ 883.6 m’

11. 2567 = 804.2 cm’

12. about 6032 gal

)
13. 120 5

87

.
14. 52 < 39in,
16

/150,000 _

15. . 50 cm
\ 1947

18. about47121b



pp. 344-345 #10-17, 20, 23, 25

10.

11.

12.

13.

14.

15.

16.

17.

20.
23.

25.

Hem 117310
3
i
1257 _ 65.4in.?
27 _ 33,5 cm’

The diameter was used instead of the
radius:

V= iuﬂ{l)z[&ﬂ = rm’

Glass A; 32—” ~ 39.8 cm*

1.5 1t

E =~ 8.6 cm

T

2./108 _ 1 8in.
1‘\'fl..?*:'il'

See Taking Math Deeper.

A'(—1,1),B'(—-3,4),
C'(—1,4)

D



PP- 352-353 #6-11 y 15-1 6, 21 -2 3 Answer presentation Tool

2887 ~ 904.8 yd?

7. 367=113.1 cm’

10.
11.

15.

16.
21.

22.

23.

10,9767

¥

~ 11,494.0 m”’

9mm
1.5 cm

4.5 ft

2567+ 1287 = 3847 =
1206.4 ft*

97— 187 =817m=254.5in.”

enlargement; 2
. 1
reduction;

A



pp. 359-361 #5-9, 11-12, 14, 21

11.
12.
14.

21.

O 0 N o W

no

yes

no

25 1n.
b=18m
c=19.5m
h=9m
1012.5 in.?
196 mm’*

The ratio of the volumes of two
similar solids is equal to the cube of
the ratio of their corresponding linear
measures.

108 _ (3
V 5
108 _ 27
V 125
V =500I1n.’
% Ay
.-1-—
Kf/ 34—
2.._
ANA T
'R EE
- 3 21
L'y

J'(=3,0),K'(—4, =3), L'(—1, —4)



p. 347 #1-10; p. 362 #1-9 odd

1.
2
3.
4

5.

147~ 44.0 yd®

. 367=113.11¢°

507 = 157.1 cm?
1327 =~ 414.7 in.?

ﬂ ~ 12.0ft
9
Ll P 13.8 cm
1"u’fl.?‘frr
28.26 ~9cm
o

The volume is 27 times greater.
about42.451n.’
13.51n,

20487 _ 21447 in.?

15 yd
7687 + 1927 = 9607
~ 3015.9 ft*

w=2.5I1n.
h=5in.

3,277'— = 34 cm*



pp. 612-613 #7-8, 11, 13-14, 20-21

7. 210 yd®
8. 121.5ft
11. 645 mm’
13. The area of the base
is wrong.

Vzéwnm-lo

= 175 cm?®

14. The gym locker has more storage
space because it has a greater
volume.

20. 48 packets
21. 20cm



pp. 618-619 #8-9, 11, 13-16, 21-24
8. 7cm’
9. 252 mm®
11. 700 mm”
13. 156 ft°
14. 240 m’
15. 340.4in.’
16. Spire B; 4in.’
21. 1537 63°
22. 987 8°
23. 60°% none
24. C















pp- 338-339 #9-15, 18

9. 2527 = 791.7 in.?

1125

10. m =~ 883.6 m’

11. 2567 = 804.2 cm’

12. about 6032 gal

)
13. 120 5

87

.
14. 52 < 39in,
16

/150,000 _

15. . 50 cm
\ 1947

18. about47121b



pp. 344-345 #10-17, 20, 23, 25

10.

11.

12.

13.

14.

15.

16.

17.

20.
23.

25.

Hem 117310
3
i
1257 _ 65.4in.?
27 _ 33,5 cm’

The diameter was used instead of the
radius:

V= iuﬂ{l)z[&ﬂ = rm’

Glass A; 32—” ~ 39.8 cm*

1.5 1t

E =~ 8.6 cm

T

2./108 _ 1 8in.
1‘\'fl..?*:'il'

See Taking Math Deeper.

A'(—1,1),B'(—-3,4),
C'(—1,4)

D



PP- 352-353 #6-11 y 15-1 6, 21 -2 3 Answer presentation Tool

2887 ~ 904.8 yd?

7. 367=113.1 cm’

10.
11.

15.

16.
21.

22.

23.

10,9767

¥

~ 11,494.0 m”’

9mm
1.5 cm

4.5 ft

2567+ 1287 = 3847 =
1206.4 ft*

97— 187 =817m=254.5in.”

enlargement; 2
. 1
reduction;

A



pp. 359-361 #5-9, 11-12, 14, 21

11.
12.
14.

21.

O 0 N o W

no

yes

no

25 1n.
b=18m
c=19.5m
h=9m
1012.5 in.?
196 mm’*

The ratio of the volumes of two
similar solids is equal to the cube of
the ratio of their corresponding linear
measures.

108 _ (3
V 5
108 _ 27
V 125
V =500I1n.’
% Ay
.-1-—
Kf/ 34—
2.._
ANA T
'R EE
- 3 21
L'y

J'(=3,0),K'(—4, =3), L'(—1, —4)


















p. 347 #1-10; p. 362 #1-9 odd

1.
2
3.
4

5.

147~ 44.0 yd®

. 367=113.11¢°

507 = 157.1 cm?
1327 =~ 414.7 in.?

ﬂ ~ 12.0ft
9
Ll P 13.8 cm
1"u’fl.?‘frr
28.26 ~9cm
o

The volume is 27 times greater.
about42.451n.’
13.51n,

20487 _ 21447 in.?

15 yd
7687 + 1927 = 9607
~ 3015.9 ft*

w=2.5I1n.
h=5in.

3,277'— = 34 cm*



